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(1) 0.8 @ 0.60
(2) 0.2 © 0.20
(3) 0.6 ® 0.80

24-0] i E22] o] 9123k 0-2 Aol 7M.
wtabA] 0.8 = 0.80,0.2 = 0.20,0.6 = 0.60 YTt




@ 5.64,5.642,5.644 @5.74,5.742,5.744
® 5.44,5.542,5.644 @ 5.742,5.744,5.746

® 5.73,5.732,5.734
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0.001 8 AA I P&},
AR [ | =5.741 - 0.001 = 5.74

=R [ ]=5.741 + 0.001 = 5.742
AeA) [ ] = 5.743 + 0.001 = 5.744
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2.875 = 2+ 0.8 4 0.07 4 0.005

A7.85 =40 + 7 +| |+ |
@D 8,5 @ 8,0.5 ® 8,0.05
@ 0.8,0.5 @0.8,0.05

47.85 =40+ 7+ 0.8 +0.05
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=99 Zol= % mA FSHA L.

Im =100cm, 1cm = 0.0l m
AZolo] &2 1 12(cm) x 4 = 48(cm)
48 cm = 0.48 m
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AT A ShRofl g RTE= o] et WIHRO] OF2 42.34kg ©]
2l ) @A 121.74kg 0] W7FRIF ATHE, ©]E
e MR e B 3 kgo] HAEA] FHHAL

b}

=i kg

>
[> ®Ef D 37.06kg

~&B ~

AR g L RET B W
121.74 — 42.34 = 79.4( kg)

=4 BS TS 32 R
79.4 — 42.34 = 37.06( kg
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@ 25.179] E?J 4= © 0.5299] 100H1¢1 4=
1

© 623.59] 00 Q4 @ 3.0059] 10H[21 &=

® 060 @ ©608e 0066
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@ 2.517

© 52.9

® 6.235

@ 30.05

=2+ 57F et = 48 242 std
@ 0.5 © 50 ® 0.005 @ 0.05
-0>0>>0
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[ okl +, -2 297 i Yol Alo] AYEHEE 514 2.

462 [2.69 = 1.983 0.053
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4.62(+)2.69 = 7.31, 4.62(-)2.69 = 1.93,
1.983(+)0.053 = 2.036, 1.983(—)0.053 = 1.93
whebA] 4.62(-)2.69 = 1.983(=)0.053




14. Al 259 SIS vt Al Ae 1242,

(1) 6.888 + 4.721 + 3.019
(2) 11.809 + 7.89 + 1.666

@ (1) 14.617 (2) 21.364 @ (1) 14.627 (2) 21.365
(@)(1) 14.628 (2) 21.365 @ (1) 14.628 (2) 21.466

® (1) 14.628 (2) 21.478

(1) 6.888 4+ 4.721 + 3.019 = 11.609 + 3.019 = 14.628
(2) 11.809 + 7.89 + 1.666 = 19.699 + 1.666 = 21.365




15. At 23} 7Py 2 40 ez 2 AL 12X,

@ 0.38+0.84 © 1.84-0.17

© 047405 ® 1.9-0.62

® 0066 @o0ese ® 000
@ ©.6.00 ® ©6.0.0

B

@ 0.38 4 0.84 = 1.22

© 1.84-0.17 = 1.67

© 0.47+0.5=0.97

© 1.9-0.62 =1.28
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19. % 36.3 7 36.4 Aol S 100 58 5t 442 yeRd off, E 2] 9
FAE A2 5 e AL BE 2 J91R] FSHA L.
> £ 7H

> ®HE 97
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36.3 <[ |<36.4 - 36.300 <[ ]<36.400

[ ]=36.301, 36.302, ---, 36.399 2] & FollA Ezta]e] 0 o]
QL X 36.310, 36.320 , 36.330 , 36.340 , 36.350 , 36.360 ,
36.370 , 36.380 , 36.390 2.2 974t}




20.

ol AAZFg o] 7t2 ol 0.6 m o], A2 ZolE 0.3m Pyt ©]
AARZYR 0] 7k ZoE 0.24m E0]3L, A& Zoli= 0.34m EUTH,
A= wrEeR A9 el Eelle 2 m7t HAEA oA L.

» E. m

(M2 712 Zo])= 0.6 - 0.24 = 0.36(m)
(M2 M2 Zo])= 0.3+ 0.34 = 0.64(m)
(M= Sl Az o] 2] Ao))
= 0.36 + 0.36 + 0.64 + 0.64 = 2(m)




